Math 343
Addendum to homework #1, due Weds 1-18-12

Refer to pages 6 and 7.  A walk in a (simple) graph G is a sequence of vertices 
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.  The length of such a walk is k-1, the number of edges (including repetitions) in the walk.  

The shortest possible walk is a single vertex v; this walk includes no edges and hence has length zero.  It is a “walk from v to v.”  (We will not consider the “empty sequence” of no vertices to be a walk, unless we see a good reason later on to do so.)
Additional Problem #1:  Use the method of smallest counterexample to write a different proof for Theorem 1.2 (for every graph G, every u-v walk in G contains a u-v path).
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